[ REEH/T—2EEE ]
=l SN N

lf\

LEERF FHRER -
EHmERRYT—O R EF
BEBErRVNT ORI IL—T

IS EH &

el

=



EE

fib[n-2] + fib[n-1] = fib[N)|DBEFREGE S EHNE T4 R FvFE 5
EIER, EOEIZOB LU E1IEITIAFIBELTEZA NS,
D74 R Ty FEFNIZEE1001E(n=100)FTRD &L,
JRAFEFRALTEETSHE
fib[0] = 0B K UMib[1] = 11FT AT S LB TRIIZEEZLT
MEHELN
RZEIFVACNORNBRETEEEH NIRRT HIE

F &
RARFEENERDHINEKOHTHSB



R 2

EBFOXFIDANEZHFIT. BILXFIDANERALSTAIT I L
ERtE &L,
ARAEADEINF-RHDOMEIE. ANZTZ(H{FTEZEITRKRRTTHIE
B {EHI:
XFHEAFALTTELY: shimada
shimada : 1
X F5Z& A ALTTELY: hajime
shimada : 1
hajime : 1
XFHEAFALTTELY: shimada
shimada: 2
hajime : 1
EVh TANERYIRLZ(HFT 5182 (X EEBIL—T THED
Evb: &AIldict =} TEBD T4 3 F)EE>TEIITEM



R 3

HEXEEEANDDANSE . ANSHEZ(RHLT, LT
DIEHERTSE &,

EXDT R
RXDXFH(EGPEVARFLXNFELTHAD)
len(XFHEH)THES

FE

XA THRAICENSAER&# (abLLEan)D L E
EVh BADMEZHEEL., KICHTEEAZEZETS




AR R

RXTIREANIOAANSE . AASNFRXTHWONZE
AEETOHBHZTRTE L,
BRI T4 aFr)ITRETHILE
BHEIEFLZFALEOTEER/NXFIZTSHLE
HNRPEARIFAIRT 52 &(EV R replaceT...)
E{E151:

EXEAHNLTTSELY: Itis a too hard exercise for me. But it
IS a mandatory task for obtaining a credit.

it : 2]
IS : 2|8
a3\
too : 119]...




HE

JRARZEAHWT. U TORETEEDH(p)EZFTHORBEKROH K
(TSR THRAD 550N
pEDERZEHFDOEIINUMZIES
BIDETHERICTIZRATS
n=2(FIDRF)MNH99F T, U TOUNEZFEYRT
num[n]MM 1725 E, TDHFITRHMEVNSIETUTOUNEEFEE
n*m < 100I2ELT(mIFXBAZ). num[n * m][20Z=HKAT S
MNIEREFIEEEHDIZRTE
NIC1ZMATIIZES

SEREICIDASDTLWSERNEZH




